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Match the polar equation with the graphs labeled I-VI.
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Sketch the graph of the polar equation. There are polar grids on the back if you would like to
make your sketches more precise.
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Notice that example (e) has an inner loop. ¥ O\id-

At what value of @ does the loop begin? [ s
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What do you notice about the values of r for the points that are on the loop?

¥y \S nQ%a’dV{/ -



[seven
() r =4cos(26) d

Type: YOS 0N X-EKLS 7/
N3

27
4 petals - ‘g :
[ /\
. \ v
&/ V1 X ! /6
.‘\. \‘ ! »
— -
i - — - 0
v /
m ’ \ 6
/ ) 3
\
qr/3 \"51/3
3n/2

O = U(COSZG Name the values of @ where the petals begin and end. TVLU( t TV,_Z_V)____W

What is the maximum value of  on your graph? _ L"

Namec the values of @ that give a maximum value for r. W2 n
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